RELATIONSHIP MARKETING IN E-COMMERCE: DEMOGRAPHIC CHARACTERISTICS OF ONLINE CONSUMERS IN INDIA

By

*Adil Wakeel, **Asif Akhtar, & ***Rahela Faroogi

*Research Scholar, Department of Business Administration, Aligarh Muslim University, Aligarh, Uttar Pradesh, India.

**Assistant Professor, Department of Business Administration, Aligarh Muslim University, Aligarh, Uttar Pradesh, India.

***Professor, Centre of Management Studies, Jamia Millia Islamia University, Jamia Nagar, New Delhi, India.

Abstract

The objective of the present study is to examine the differences in relationship marketing practices, e-satisfaction, and purchase intention on Ecommerce, across demographic characteristics of consumers. The data has been collected using stratified random sampling method from consumers living in the national capital of Delhi, India. The present study has validated the scale for relationship marketing practices, e-satisfaction, and purchase intention. Hypotheses testing has been conducted using t-test and ANOVA. The results show that there are gender differences in information quality, security, privacy, and purchase intention. However, gender differences are insignificant for website quality, website usability, search/compare capabilities, lower rates, responsiveness, order tracking, on-time delivery, and customer service. The present study also confirms the occupational differences in search/compare capabilities, security/privacy, order delivery, customer service, e-satisfaction, and purchase intention.

Keywords: e-commerce, relationship marketing, demographics.

Introduction

Shopping on the internet has gained widespread popularity in the last few decades. The rapid growth of internet penetration since 1991, enabled ecommerce on the internet and led to many businesses cashing on the opportunity. The rise of internet has led to the creation of a global marketplace where locational barriers do not exist anymore.

E-commerce, a subcategory of the overall ebusiness universe, is focused transactions. To drive consumer and customer transactions, businesses different marketing and e-marketing tools. At the core of these marketing efforts is the need to attract new customers via creating and communicating an enhanced value proposition. This means e-commerce businesses have to invest time, and effort on understanding their target group's attitudes and usage behaviors while and also factoring in their ethical and legal considerations. To create a unique point of differentiation versus their competitors, these companies must focus not just on operations but more importantly, compete for customers treating them as the most important asset and building long term customer relationships. Therefore, companies need to invest and drive relationship marketing which has been called a process, strategy, an art that cannot be ignored in today's time.

The main types of electronic commerce are: business-to-business (B2B); business to-consumer (B2C); business-to-government (B2G); consumer-to-consumer (C2C); and mobile commerce (m-commerce).

E-commerce in India

E-commerce in India is still at a nascent stage, but even the most conservative projections predict the industry to rapidly increase in the future. Many domestic and international players have already set up shop in India and new E-commerce players continue to enter this sector. A lot of traditional offline retail companies have also forayed into setting up an E-commerce portal in addition to their offline business. According to Abhijit (2013), there are many sites selling diverse items from cinema tickets to household items, Durable and electronics, and services like flower delivery etc.

According to a IBEF report, the Indian E-commerce market is expected to grow from US\$ 46 bn to US\$ 111 bn at a CAGR of 19%.

Some of the key facilitators for the Ecommerce growth in India are (1) Massive internet penetration with over 300 mn users (2) Growing Smartphone penetration consisting of 35% of the mobile phone market in India (3) Transformation from cash to digital economy and the growth of payment gateways (4) Strides in analytics solutions for actionable insights on the consumer (5) Rise of social media as a platform for brand building, advertisements, developing a community of trusted users, spreading word of mouth, communicating offers etc. (6) Government of India initiatives, namely Digital India, Make in India, Start-up India, Skill India.

Impact of Covid-19 on E-commerce

Many sectors have benefitted as a result of lockdowns and distancing norms due to Covid'19. This has led to increased adoption of E-commerce both for B2C as well as B2B players. Within B2C sales, Household categories have seen the highest spike.

According to a Shopify report, Consumers are reluctant to go back to shopping in physical stores.

- 84% of consumers surveyed have purchased products online post Covid-19. Only 38% claim to have bought products from physical stores.
- 85% claim that they will continue to purchase from E-commerce over the next few months.

 The shift towards E-commerce post Covid-19 is more evident in younger (18-34 yrs) and middle aged (35-54 yrs).
 85% of younger and 90% of middle aged consumers claim to have shifted to Ecommerce shopping post Covid-19.

Going virtual will continue to enhance the shopping experience online. With the advancement in technology and platforms, engaging with consumers will evolve from a "nice to have" to a "must have" in the post-pandemic era. Even though 2021 will likely see the return of consumers to physical locations, consumers will continue to embrace the virtual engagements that add the most value, putting pressure on businesses to ramp up investments.

Relationship Marketing (RM) and e-RM

Various authors have described the importance of Relationship marketing. Magnum (2008) states that "Relationship marketing includes all the ways you use relationships to promote your business". The building advantage of long term relationships is that it earns a high level of trust with customers that results in high levels of information exchange and cooperation, which in turn drives long term profits for companies. Palmatier (2008) characterised RM as "the process of identifying, developing, maintaining, and terminating relational exchanges with the purpose of enhancing performance".

Businesses around the world have seen a tectonic movement towards a consumer pull

(consumer focused) strategy. This shift has further aided by technological advancements and one of the most visible manifestation is the investments companies made in customer relationship management (CRM) systems. According to Winer (2001), CRM integrates information technology and business processes, which allows executing of relationship marketing at a company-wide level. As customers become increasingly demanding and seek more information and attention, companies are increasingly leveraging technology to address their customer's needs.

The growth of internet-based businesses has given a platform for delivering Relationship marketing features over the web resulting in a new concept: e-Relationship marketing (E-RM or ERM). E-RM focusses on the internet web-based interaction between or businesses and customers. According to Rosenbaum & Huang (2002), a key reason for companies adopting E-RM is the rationale that it enhances the customer loyalty through improved customer satisfaction. There is widespread agreement within the research and industry communities on the benefits of e-RM on customer satisfaction.

The present research study is an endeavor to assess if there are any differences of Relationship Marketing and Purchase Intention from a demographic standpoint in the domain of E-commerce in India by using quantitative research method.

Literature Review

RM has originated from its genes and is based on the Relationship Marketing (RM) doctrines, which are well thought of as one of the essential aspects of contemporary marketing growth and have generated excessive research interest for a number of vears (Sheth and Parvativar. Relationship marketing was introduced in the early 1990s as a way for marketing teams to learn more about their clients, consider their interests, and thereby improve the likelihood of retaining them (Dyche, 2002). In their work, Peppers and Rogers (1993) highlighted relationship marketing as a one-to-one marketing strategy that Dyche (2002) later explored in his book.

Brodie et al. (1997) referred to marketing of relationships as a new concept and, according to the authors, marketing of relationships originated from a sequence of research flows. The first flow analyses marketing taking a service perspective (Berry, 1983, 1995, Gronroos, 1990); while the ensuing next flow centers on organizational corporate or exchange connections (Berry, 1983, 1995, Gronroos, 1990) (Dwyer, et al., 1987, Ford, 1990, Hakansson, 1982, Wilson, 1995). Similarly, the third stream is focused on channel literature, for example, improvement in relationships between operative competent networks (Buzzell and Ortmeyer, 1995). The subsequent part of the studies, which is the fourth part, dwell on the stream

of dynamic relationships studies (eg, Axelsson and Easton, 1992, Johanson and Mattsson, 1985, 1988).

The fifth research stream underlies the modern relationship marketing model from strategic management emanate discourse and is based on latest conceptualizations on the existence of ties in value pattern or chains (Normann and Ramirez, 1993). Finally, the last section is focused on literature on information and computerised technology, and explores the strategic effect of such on intra and interorganisational relationships (Scott Morton, 1991). The authors have clarified that the synthesis of these research flows provides basis for the current pragmatic statement that considers marketing an integration operation involving employees across the company, with specific attention all the time to facilitation, creation and preservation of relationships.

There is widespread agreement within the research and industry communities on the benefits of e-RM on customer satisfaction.

Purchase Cycle

It is possible to split the buying decision process into pre, during and post-purchase phases (Solomon, 2006). In the various phases of the transaction cycle, the expectations of consumers and related activities vary given the thoughts and requirements of consumer assessment in the advance purchasing process vary from post-purchase.

Sterne. (1996). proposes a framework consisting of three phases: pre-sales, sales and post-sales experiences to distinguish the online consumer experience. Lu (2003) uses this context in further studies to assess the e-commerce outcome of functionality or efficacy satisfaction, highlighting that E-attributes RM's leads distinctively to the overall satisfaction related with individual modes of the transaction process.

In a related research, Feinberg et al. (2002) split E-RM functionality of websites into three distinct phases, that is, the pre-sales, sales, and after-sales stages to examine the association connecting E-RM and customer gratification. The review of literature indicates that the online consumer purchase journey can be divided into three stages: Pre purchase, During purchase and Post purchase. Given the different consumer needs and expectations at each stage of this journey, from an RM standpoint, these can be categorised into: Communicational RM, Transactional RM and Relational RM.

Pre-purchase or communicational RM features

Researchers who are studying the success of E-RM have suggested that an E-RM program should include several elements in the prepurchase phase that will lead to prepurchase satisfaction. Anderson and Kerr (2001) state that the first phase of E-RM is to provide information to customers, and at this stage companies try to get information

from potential customers and learn more about them.

Khalifa (2005;2009), and Shen deconstructed E-RM pre-purchase functionality into six constructs (site customisation. education. customer alternative channels, loyalty programs, search capabilities and alerts).

At-purchase or Transactional RM features

In this step, the different E-RM functions will influence the decision of the client to complete the transaction online. The value of dynamic pricing at this point was emphasised by Khalifa and Shen (2005; 2009).

Further, information on purchase conditions was emphasised by Khalifa and Shen (2005; 2009) and Feinberg et al. (2002). They clarify that the guidance given on the procedures on how to purchase the product, what requirements to consider are an important aspect.

In addition, Liu et al. (2008) highlighted the value of the safety / privacy aspect affecting the decision of a customer to make a purchase via the website of the company. Therefore, at this point, websites should provide some E-RM features to reduce any perceived risk and provide adequate protection to customers. It is crucial that web designers make consumers feel that the Internet is an easy, secure and efficient way of making transactions for these reasons.

Post-purchase or Relational RM features

The last step to complete the electronic transaction is after the purchase. At this stage, Ross (2005) pointed out that customer service plays an important role because a company will perform a customer assessment so that the company knows the level of customer satisfaction with the delivered product and electronic services. Using this approach, the company can improvise its products and services to satisfy its customers. Customer service also acts as communication platform between customers and management to answer all questions and interact with customers, especially when customers face problems and difficulties with electronic transactions (Khalifa & Shen, 2005).

Feinberg et al., (2002) support the reporting functionality of those Web sites that provide a specific area for customers where they can leave their complaints. While Feinberg et al., (2002); and Khalifa and Shen (2005) support the availability of the problem solving function in which visitors can solve their problems with products or services with the help of the online self-help feature.

E-RM, E-satisfaction and Purchase Intention

For many researchers, electronic satisfaction has become an object of interest. "Contentment and gratification have a major influence on the acquisition and ability to retain customers and overall firm profitability", Anderson and Srinivasan

(2003). Sterne (1996) proposed a structure the experiences of consumers in the sense of e-commerce, which comprises of three phases: beforesales, during sales and after-sales interactivity. Lu (2003) demonstrated impact showing RM's add diversely to the gratification associated with each stage of the transaction. In the pre-sales, sales and after-sales phases of the investigation into E-RM and satisfaction relationships, Feinberg et al. (2002)maps the electronic characteristics of retail web-platforms along the same axis.

Purchase motive is regarded to be a critical precipitating factor of the attitude-behavior relationship, which is ideal for determining customer behaviour. The purpose is characterised purchasing as the individual's judgement on the service and the decision to commit in the future. [Hellier P. K. U.a. et.al. Zeithaml V. A. (2003); et., et. Al's (1996)]. Scholars have concentrated on various aspects of the purpose of Bhattacherjee purchasing. A. (2001),postulates that the primary determinants of purchase intent are assurance and satisfaction. Oh, Jones M. A. (1998) considered that the intention to purchase is directly influenced by the adjustment of obstacles.

Zeithaml and Bitner (2000) suggested that "customer satisfaction relates to the consumer satisfaction response and is an emotional response to the difference between what consumers expect and what they get". For happy clients, the beneficial

behavioural intentions towards the service provider increase (Chen, Liu, Sheu and Yang, 2012). Future buying intentions are related with client's gratification (Patterson et al 1997, Durvasula et al., 2004). The majority of empirical evidence substantiates that gratification and contentment is a critical aspect connected to the motivation to purchase (Day, Denton & Hickner, 1988, Kotler, 1994, Cronin & Taylor, 1992, Patterson, 1997, Johnson & Spreng, 2001, Mittal & Kamakura).

Analysis existing research-related literature; E-RM, E-Satisfaction, and the plan to purchase, have highlighted a number of gaps to be discussed in this study. Firstly, as seen in the previous sections, there are no studies that concentrate on E-RM in general with regard to all the purchase cycle stages (before-purchase, during purchase and after-purchase). While a specific study focusing on the features of E-RM and online satisfaction was proposed by Khalifa and Shen (2005; 2009), there is no full conceptual approach that centers on all the purchase cycle stages. Secondly, although there are some studies that include a systematic scrutinization of these components, there is minimal evidence that link the purchase cycle stages to both E-Satisfaction/E-Gratification and E-Purchase Intention. Finally, there have been no empirical studies in the Indian perspective that focus on the E-RM factors that influence the consumer's decision to purchase consumer goods online and how they differ from a demographic standpoint.

Research Objectives

- 1. To explore the dimensions of communicational, transactional, and relational E-Relationship marketing on E-commerce platforms.
- 2. To analyze the role of demographic variables on the dimensions of communicational, transactional, and relational E-Relationship marketing.

Research Methodology

The present research is an attempt to examine the differences in relationship marketing practices. e-satisfaction purchase intention across demographic characteristics of the respondents. After defining the concept of relationship marketing and proposing a framework to assess the effect of RM dimensions on purchase intention, hypotheses were developed and tested using a quantitative design. The study was done using administered questionnaires with consumers shopping online. The respondents were contacted using stratified random sampling. Following a pilot study (50 respondents), further, a total of 516 questionnaires were used for the main empirical analysis of study. The study uses a quantitative empirical approach structured data collection through questionnaire. The present study employs ttest and ANOVA to analyze the differences across demographic characteristics of the respondents.

Analysis

The coding scheme for the different variables/items is as below:

E-RM classifi cation	fi Construct Micro-Attribute				
	Website Design (WEBD)	The e-commerce website has an attractive appearance.	WEBD1		
		The e-commerce website is easy to use.	WEBD2		
		The e-commerce website is always up and accessible.	WEBD3		
		Web pages load quickly on the e-commerce website	WEBD4		
	Website usability	Navigation on the e-commerce website is consistent and standardized.	WEBU1		
	(WEBU)	The e-commerce website requires only a few clicks to get to the information needed	WEBU2		
		Links to information are clearly displayed on the e-commerce website	WEBU3		
		The e-commerce website uses a language that can be easily understood	WEBU4		
	Search and compare	It is very easy to search for any information on the e-commerce website.	SRCC1		
	capabilities (SRCC)	The e-commerce website has features for easily comparing different product and price options	SRCC2		
		The e-commerce website has product ratings and customer feedback which makes it easy to select products	SRCC3		
F		The information searching system on the e- commerce website is very quick	SRCC4		
Communicational RM		The e-commerce website has seller information and ratings which allow to choose the Seller	SRCC5		
unicati	Information Quality (INFQ)	The Information on the e-commerce website is current and timely.	INFQ1		
Comm		The Information on the e-commerce website is accurate and relevant	INFQ2		

E-RM classifi cation	Construct	Code	
		The e-commerce website provides suggestions on which products to consider	INFQ3
		The e-commerce website reminds of items to purchase or those in the cart	INFQ4
	Loyalty and Rewards program (LYRP)	The e-commerce website offers an attractive points scheme to it's regular /membership club /prime members (e.g. accumulate points, coins, redeem vouchers).	LYRP1
		The e-commerce website usually has better discounts for its regular /membership club /prime members	LYRP2
		The e-commerce website maintains the relationship by wishing on important occasions.	LYRP3
	The e-commerce website offers special features t its regular /membership club /prime members lik free home delivery, early view into deals etc.	LYRP4	
		E-commerce website offers attractive rewards for returning to the site	LYRP5
	Responsiveness The e-commerce website service shows a sincere (RSPNS) interest in solving customer's problems		RSPNS1
		Email responses are relevant and accurate on this e-commerce website	RSPNS2
RM		The e-commerce website responds to enquiries quickly.	RSPNS3
Transactional RM	Lower Rates (LRATES)	The e-commerce website has a lot of heavy discounting occasions like Shopping sale, Festival discounts etc.	LRATES1
Tra		The e-commerce website offers special pricing rates which are lower than the normal rates.	LRATES2
		The e-commerce website often offers attractive discounts.	LRATES3
		Dynamic pricing is applicable on the e-commerce website	LRATES4

E-RM classifi cation	Construct	t Micro-Attribute		
	Security and Privacy (SCPY)	The e-commerce website imposes a strict privacy policy	SCPY1	
	The e-commerce website provides a third-part verification (eg. Seal of approval) to endors website security standard			
		The e-commerce website has a high security standard over transaction data	SCPY3	
		The e-commerce website allows me to post feedback anonymously	SCPY4	
		The e-commerce website has all debit and credit cards options for customers paying online (eg. Visa, Mastercard, Rupay).	SCPY5	
		The e-commerce website also provides alternative payment method other than credit/debit card (PayPal, Paytm, auto debit, money order, and cash on delivery. etc)	SCPY6	
		The e-commerce website provides easy EMI options for purchase	SCPY7	
		The payment procedures on the e-commerce website are easy to follow and convenient	SCPY8	
	Order Tracking (ORDRT)	The e-commerce website provides the ability to track orders until delivered.	ORDRT1	
		The e-commerce website provides a tracking number is provided for shipment.	ORDRT2	
Relational RM		An order confirmation e-mail is sent by the e-commerce website	ORDRT3	
Relatio		The e-commerce website provides tracking tools for checking the status of an order easily on the mobile phone	ORDRT4	
	On Time delivery (OTDL)	The e-commerce website delivers consumer products promptly after the online order and when expected.	OTDL1	

E-RM classifi cation	Construct	Micro-Attribute	Code
		The e-commerce website has convenient delivery options to choose from (express delivery, home delivery, convenient timing options etc)	OTDL2
		The items sent by the e-commerce website are well packaged and perfectly sound	OTDL3
		The e-commerce website ensures quick pick up of any items that need to be returned	OTDL4
	Customer Service (CSER)	The e-commerce website provides adequate FAQ services.	CSER1
		The e-commerce website provides good after-sales service	CSER2
		The e-commerce website provides insurance options on many items	CSER3
		The e-commerce website has easy policy for replacement or exchange of purchased items	CSER4
		The e-commerce website is proactive in responding to consumer complaints	CSER5
	Use of Social The e-commerce website uses social media tool Media such as face book, blogs, twitter, etc	USMEDIA1	
	(USMEDIA)	The e-commerce website share/exchange information with members in the social media platform	USMEDIA2
		The e-commerce website does a lot of advertising on TV and in social media	USMEDIA3
		The e-commerce website creates online communities for its members	USMEDIA4
		The e-commerce website regularly provides information on offers, special events etc. on social media platforms	USMEDIA5
	E-Satisfaction (ESTFN)	I am satisfied with the pre-purchase experience (e.g. website layout, search and compare capabilities, loyalty and rewards etc.) on the ecommerce website.	ESTFN1

E-RM classifi cation				
	I am satisfied with the purchase experience on the e-commerce web-site (e.g. payment procedure, security/privacy, etc).		ESTFN2	
	I am satisfied with the post-purchase experience on the e-commerce website (e.g. order tracking, on- time delivery, return facility etc)			
		I will buy from the e-commerce website the next time I purchase any consumer goods.	PINTN1	
	Purchase Intention	I visit the e-commerce website more frequently than others	PINTN2	
	(PINTN)	I prefer this e-commerce website than others	PINTN3	
		I intend to continue using this e-commerce website.	PINTN4	

Demographic Characteristics of the respondents

Demographic profile of the respondents is demonstrated in Table 1. It classifies the respondents on the basis of gender, age, educational qualification and profession. The results show that male respondents have participated more than female respondent.

Most of the participation comes from the youngsters whose age is 16 to 24 years. From educational qualification, respondents having college degree have participated more in the study. Self employed individuals have higher level of participation in the study than individuals from any other profession.

Table 1. Demographic profile of the respondents

Variable	Category	Frequency	Percentage
Gender	Male	283	54.8
Gender	Female	233	45.2
	16-24 years	168	32.6
	25-34 years	90	17.4
Age	35-44 years	109	21.1
	45-54 years	78	15.1
	55 years or above	71	13.8

	School 5 to 9 years	29	5.6
	SSC / HSC	178	34.5
Education	Some College (incl a Diploma) but not graduate	45	8.7
	Graduate / Post Graduate – General	250	48.4
	Graduate / Post Graduate -Professional	14	2.7
	Government employee	10	1.9
	Private employee	125	24.2
Profession	Self employed	183	35.5
	Housewife	97	18.8
	Student	101	19.6

Validity and reliability analysis of the scale used in the study

According to Straub et al., (2004) reliability construct validity are obligatory validities for measurement model assessment. While reliability is concerned of measurement within a construct and with construct validity has to do measurement between constructs. To achieve the validity of assessment instruments, results should be reliable and valid for study. Consequently, reliability and validity should be examined for each measures of assessment model and the measurement model should indicate good quality of reliability and validity including convergent validity discriminant and validity.

To assess Reliability of the instrument, Cronbach Alpha values were deduced as summarized in Table 2. Basis this, no item needs to be deleted from the scale and the measures of the study were sufficiently found reliable to conduct further analysis. To assess Validity, standards include: (a) the standardized regression or factor loadings of the indicators should be greater than 0.5; (b) composite reliability of various The dimensions is higher than 0.70; (c) Average Variance Extracted (AVE) is higher than 0.50 . Referring to Table 3, we can observe that all factor loadings are above 0.50, with majority of the values significantly higher than 0.70. Convergent validity criteria for standardized regression weights and critical ratio indicate reasonable score achieved as the obtained values are above the range. Hence, above mentioned both the conditions for convergent validity are satisfied. Next item average variance extracted (AVE) can be determined as the sum of squared multiple correlations divided by the number of factors. Principally obtained value of AVE should be greater than 0.5. AVE results are as follows.

Table 2. Summary of Cronbach's Alpha Values for the Survey Questionnaire

Constructs	Cronbach's Alpha
Website Design (WEBD)	0.944
Website usability (WEBU)	0.831
Search and compare capabilities (SRCC)	0.962
Information Quality (INFQ)	0.958
Loyalty and Rewards program (LYRP)	0.883
Responsiveness (RSPNS)	0.866
Security and Privacy (SCPY)	0.87
Order Tracking (ORDRT)	0.924
On Time delivery (OTDL)	0.962
Customer Service (CSER)	0.859
Lower Rates (LRATES)	0.96
Use of Social Media (USMEDIA)	0.961
E-Satisfaction (ESTFN)	0.936
Purchase Intention (PINTN)	0.947
Overall reliability	0.971

Table 3. Obtained convergent validity

Items	Variables	Estimate	CR	AVE
USMEDIA5		0.92		
USMEDIA4	Use of Social Media	0.896	0.962	0.834
USMEDIA1		0.908		
-				

		_		
USMEDIA3		0.929		
USMEDIA2		0.912		
LRATES1		0.906		
LRATES4	Lower Rates	0.934	0.96	0.858
LRATES3		0.932		
LRATES2		0.932		
LYRP5		0.764		
LYRP1		0.835		
LYRP2	Loyalty and Rewards program	0.73	0.883	0.601
LYRP3		0.781		
LYRP4		0.764		
INFQ4		0.93		
INFQ1	Information Quality	0.911	0.958	0.852
INFQ2	information Quanty	0.929	0.750	0.032
INFQ3		0.921		
SRCC5		0.963		
SRCC3		0.985		
SRCC4	Search and compare capabilities	0.884	0.96	0.83
SRCC1		0.856		
SRCC2		0.859		
WEBU1		0.92		
WEBU4	Website usability	0.275	0.876	0.668
WEBU3		0.952		
WEBU2		0.918		
WEBD1		0.925		
WEBD4	Website Design	0.917	0.946	0.815
WEBD3		0.904		0.000
WEBD2		0.863		
RSPNS1		0.812		
RSPNS2	Responsiveness	0.885	0.87	0.692
RSPNS3		0.795		

SCPY1		0.606		
SCPY2		0.596		
SCPY3		0.644	0.871	
SCPY4	Security and Privacy	0.671		0.461
SCPY5	Security and Frivacy	0.793	0.071	0.401
SCPY6		0.604		
SCPY8		0.808		
SCPY7		0.669		
ORDRT1		0.909		
ORDRT2	Onders Tree alsing	0.825	0.025	0.757
ORDRT4	Order Tracking	0.863	0.925	0.757
ORDRT3		0.881		
OTDL4		0.942		
OTDL3	0. 771 1.11	0.933	0.963	0.066
OTDL2	On Time delivery	0.926		0.866
OTDL1		0.922		
CSER5		0.836		
CSER1		0.325		
CSER2	Customer Service	0.876	0.887	0.63
CSER3		0.868		
CSER4		0.908		
ESTFN1		0.912		
ESTFN2	E-satisfaction	0.908	0.933	0.832
ESTFN3		0.917		
PINTN1		0.912		
PINTN2		0.894		
PINTN3	Purchase Intention	0.911	0.947	.818
PINTN4		0.901		

T-test and ANOVA

Mean differences related to communicational transactional and relational ERM feature between male and female

The above table shows the results of T-test applied to determine the differences in antecedents of Website Design (WEBD), Website usability (WEBU), Search and compare capabilities (SRCC), Information Quality (INFQ), Loyalty and Rewards program (LYRP), Responsiveness (RSPNS), Security and Privacy (SCPY), Order Tracking Time (ORDRT), On delivery (OTDL), Customer Service (CSER), Lower Rates (LRATES), Use of Social Media (USMEDIA), E-Satisfaction (ESTFN) Purchase and Intention (PINTN) across Genders.

The Sig. value is greater than 0.05 for maximum of the dependent variables across

the table. This supports the hypotheses H01.1, H01.2, H01.3, H01.5, H01.6, H01.8, H01.9, H01.10, H01.11, H01.12 and H01.13 while the Sig. value is less than 0.05 for INFQ, SCPY, PINTN. Therefore, the null hypotheses H01.4, H01.7, and H01.14 is rejected between the Genders.

It is also observed that female employees have slightly higher Mean score in all the cases. However, it is statistically confirmed through *t*-test that the above antecedents of Website design (WEBD) and website usability (WEBU), responsiveness (RSPNS), Loyalty and Rewards program (LYRP), Search and compare capabilities (SRCC), On Time delivery (OTDL), Customer Service (CSER), Lower Rates (LRATES), Use of media (USMEDIA) E-satisfaction (ESTFN) and does not have any significant difference across genders as the significance value is higher than 0.05.

Table 4. Mean differences between Males and Females

		Levene's Test for Equality of Variances		t-test for Equality of Means		
		F	Sig.	Т	Df	Sig. (2-tailed)
H _{01.1}	WEBD	1.609	0.205	-0.969	514	0.333
H _{01.2}	WEBU	1.838	0.176	-1.068	514	0.286
H _{01.3}	SRCC	0.985	0.321	-0.821	514	0.412
H _{01.4}	INFQ	20.227	0.00	-2.727	514	0.007
H _{01.5}	LYRP	0.318	0.573	-0.675	514	0.5
H _{01.6}	RSPNS	5.532	0.019	-1.818	514	0.07
H _{01.7}	SCPY	4.58	0.033	-1.961	514	0.05

		Levene's Test for Equality of Variances		t-test for Equality of Means		
		F	Sig.	Т	Df	Sig. (2-tailed)
H _{01.8}	ORDRT	2.151	0.143	-1.73	514	0.084
H _{01.9}	OTDL	1.717	0.191	-0.971	514	0.332
H _{01.10}	CSER	3.106	0.079	-1.44	514	0.15
H _{01.11}	LRATES	3.518	0.061	-1.164	514	0.245
H _{01.12}	USMEDIA	7.727	0.006	-1.852	514	0.065
H _{01.13}	ESTFN	3.095	0.079	-1.675	514	0.095
H _{01.14}	PINTN	11.079	0.001	-2.224	514	0.027

Mean differences related to communicational transactional and relational E-RM features across Age Groups

Table 5. Mean differences among age groups

			Sum of Squares	df	Mean Square	F	Sig.
H _{02.1}		Between Groups	2.503	4	.626	.203	.937
	WEBD	Within Groups	1575.848	511	3.084		
		Total	1578.351	515			
H _{02.2}		Between Groups	5.929	4	1.482	.553	.697
	WEBU	Within Groups	1370.241	511	2.681		
		Total	1376.170	515			
H _{02.3}		Between Groups	3.230	4	.808	.237	.918
	SRCC	Within Groups	1742.140	511	3.409		
		Total	1745.370	515			
H _{02.4}	INFQ	Between Groups	11.577	4	2.894	.808	.520
	mrų	Within Groups	1829.884	511	3.581		

			Sum of Squares	df	Mean Square	F	Sig.
		Total	1841.462	515			
H _{02.5}		Between Groups	15.438	4	3.860	1.371	.243
	LYRP	Within Groups	1438.274	511	2.815		
		Total	1453.712	515			
H _{02.6}		Between Groups	32.460	4	8.115	3.105	.015
	RSPNS	Within Groups	1335.317	511	2.613		
		Total	1367.777	515			
H _{02.7}		Between Groups	3.947	4	.987	.816	.516
	SCPY	Within Groups	618.293	511	1.210		
		Total	622.240	515			
H _{02.8}		Between Groups	8.456	4	2.114	1.000	.407
	ORDRT	Within Groups	1080.166	511	2.114		
		Total	1088.622	515			
H _{02.9}		Between Groups	6.742	4	1.685	.449	.773
	OTDL	Within Groups	1919.436	511	3.756		
		Total	1926.178	515			
H _{02.10}		Between Groups	2.729	4	.682	.382	.821
	CSER	Within Groups	912.186	511	1.785		
		Total	914.916	515			
H _{02.11}		Between Groups	10.020	4	2.505	.681	.605
_	LRATES	Within Groups	1879.329	511	3.678		
		Total	1889.349	515			
H _{02.12}	USMEDIA	Between Groups	3.065	4	.766	.256	.906

			Sum of Squares	df	Mean Square	F	Sig.
		Within Groups	1530.493	511	2.995		
		Total	1533.558	515			
H _{02.13}		Between Groups	8.505	4	2.126	.713	.583
	ESTFN	Within Groups	1523.756	511	2.982		
		Total	1532.261	515			
H _{02.14}		Between Groups	6.597	4	1.649	.544	.704
	PINTN	Within Groups	1549.761	511	3.033		
		Total	1556.359	515			

The above table shows the results of T-test applied to determine the differences in antecedents of Website Design (WEBD), Website usability (WEBU), Search and compare capabilities (SRCC), Information Quality (INFQ), Loyalty and Rewards program (LYRP), Responsiveness (RSPNS), Security and Privacy (SCPY), Order Tracking On Time delivery (OTDL), (ORDRT), Customer Service (CSER), Lower Rates (LRATES), Use of Social Media (USMEDIA), E-Satisfaction (ESTFN) and Purchase Intention (PINTN) across Age groups.

The Sig. value is greater than 0.05 for maximum of the dependent variables across the different age groups. This supports the hypothesis H_{02.1}, H_{02.2}, H_{02.3}, H_{02.4}, H_{02.5}, H_{02.7}, H_{02.8}, H_{02.9}, H_{02.10}, H_{02.11}, H_{02.12}, H_{02.13}, and H_{02.14} while the significance value is less than

0.05 for RSPNS. Therefore, null Hypothesis H02.6 is rejected across Age groups.

It is also observed that the age group of 25-34 years have slightly higher Mean score in almost all the cases. However, it is statistically confirmed through T test that the above antecedents of Website Design (WEBD), Website usability (WEBU), Search and compare capabilities (SRCC), Information Quality (INFQ), Loyalty and Rewards program (LYRP), Security and Privacy (SCPY), Order Tracking (ORDRT), On Time delivery (OTDL), Customer Service (CSER), Lower Rates (LRATES), Use of Social Media (USMEDIA), E-Satisfaction (ESTFN) and Purchase Intention (PINTN) across Age Groups does not have any significant difference as the significance value is higher than 0.05.

Mean differences related to communicational transactional and relational E-RM features across Education Levels

Table 6. Mean differences among levels of education

			Sum of Squares	df	Mean Square	F	Sig.
		Between Groups	7.573	4	1.893	.616	.651
H _{03.1}	WEBD	Within Groups	1570.778	511	3.074		
		Total	1578.351	515			
		Between Groups	1.771	4	.443	.165	.956
$H_{03.2}$	WEBU	Within Groups	1374.399	511	2.690		
		Total	1376.170	515			
		Between Groups	13.842	4	3.461	1.021	.396
H _{03.3}	SRCC	Within Groups	1731.527	511	3.389		
		Total	1745.370	515			
		Between Groups	1.290	4	.323	.090	.986
H _{03.4}	INFQ	Within Groups	1840.172	511	3.601		
		Total	1841.462	515			
		Between Groups	15.018	4	3.755	1.334	.256
H _{03.5}	LYRP	Within Groups	1438.694	511	2.815		
		Total	1453.712	515			
		Between Groups	47.177	4	11.794	4.564	.001
H _{03.6}	RSPNS	Within Groups	1320.600	511	2.584		
		Total	1367.777	515			
		Between Groups	7.779	4	1.945	1.617	.169
H03.7	SCPY	Within Groups	614.461	511	1.202		
		Total	622.240	515			
		Between Groups	2.950	4	.737	.347	.846
H03.8	ORDRT	Within Groups	1085.673	511	2.125		
		Total	1088.622	515			
H _{03.9}	OTDL	Between Groups	6.642	4	1.660	.442	.778

			Sum of Squares	df	Mean Square	F	Sig.
		Within Groups	1919.536	511	3.756		
		Total	1926.178	515			
		Between Groups	5.858	4	1.464	.823	.511
H _{03.10}	CSER	Within Groups	909.058	511	1.779		
		Total	914.916	515			
		Between Groups	6.866	4	1.716	.466	.761
H _{03.11}	LRATES	Within Groups	1882.483	511	3.684		
		Total	1889.349	515			
		Between Groups	17.349	4	4.337	1.462	.213
H _{03.12}	USMEDIA	Within Groups	1516.209	511	2.967		
		Total	1533.558	515			
		Between Groups	6.955	4	1.739	.583	.675
H _{03.13}	ESTFN	Within Groups	1525.306	511	2.985		
		Total	1532.261	515			
		Between Groups	4.916	4	1.229	.405	.805
H _{03.14}	PINTN	Within Groups	1551.443	511	3.036		
		Total	1556.359	515			

The above table shows the results of T-test applied to determine the differences in antecedents of Website Design (WEBD), Website usability (WEBU), Search and compare capabilities (SRCC), Information Quality (INFQ), Loyalty and Rewards program (LYRP), Responsiveness (RSPNS), Security and Privacy (SCPY), Order Tracking (ORDRT), On Time delivery (OTDL), Customer Service (CSER), Lower Rates (LRATES), Use of Social Media (USMEDIA),

E-Satisfaction (ESTFN) and Purchase Intention (PINTN) across Education levels.

The significance value is greater than 0.05 for maximum of the dependent variables across the table. This supports the hypothesis $H_{03.1}$, $H_{03.3}$, $H_{03.4}$, $H_{03.5}$, $H_{03.7}$, $H_{03.8}$, $H_{03.9}$, $H_{03.10}$, $H_{03.11}$, $H_{03.12}$, $H_{03.13}$ and $H_{03.14}$ while the significance value is less than 0.05 for responsiveness. Therefore, null Hypothesis $H_{03.6}$ is rejected across Education levels.

It is statistically confirmed through T test that the above antecedents of Website Design (WEBD), Search and compare capabilities (SRCC), Information Quality (INFQ), Loyalty and Rewards program (LYRP), Security and Privacy (SCPY), Order Tracking (ORDRT), On Time delivery

(OTDL), Customer Service (CSER), Lower Rates (LRATES), Use of Social Media (USMEDIA), E-Satisfaction (ESTFN) and Purchase Intention (PINTN) across Education levels does not have any significant difference as the significance value is greater than 0.05.

Mean differences related to communicational transactional and relational E-RM features across the respondents' profession

Table 7. Mean differences among various professions

			Sum of Squares	df	Mean Square	F	Sig.
H _{04.1}		Between Groups	27.887	4	6.972	2.298	.058
	WEBD	Within Groups	1550.464	511	3.034		
		Total	1578.351	515			
H _{04.2}		Between Groups	13.206	4	3.302	1.238	.294
	WEBU	Within Groups	1362.964	511	2.667		
		Total	1376.170	515			
H _{04.3}		Between Groups	33.912	4	8.478	2.531	.040
	SRCC	Within Groups	1711.457	511	3.349		
		Total	1745.370	515			
H _{04.4}		Between Groups	15.931	4	3.983	1.115	.349
	INFQ	Within Groups	1825.531	511	3.572		
		Total	1841.462	515			
H _{04.5}		Between Groups	25.913	4	6.478	1.474	.209
	LYRP	Within Groups	2245.513	511	4.394		
		Total	2271.426	515			
H _{04.6}		Between Groups	22.780	4	5.695	2.164	.072
	RSPNS	Within Groups	1344.997	511	2.632		
		Total	1367.777	515			
H _{04.7}	SCPY	Between Groups	17.420	4	4.355	3.680	.006

		Within Groups	604.820	511	1.184	
		Total	622.240	515		
H04.8		Between Groups	16.849	4	4.212	2.008 .092
	ORDRT	Within Groups	1071.773	511	2.097	
		Total	1088.622	515		
H04.9		Between Groups	48.560	4	12.140	3.304 .011
	OTDL	Within Groups	1877.617	511	3.674	
		Total	1926.178	515		
H _{04.10}		Between Groups	22.865	4	5.716	3.274 .011
	CSER	Within Groups	892.050	511	1.746	
		Total	914.916	515		
H _{04.11}		Between Groups	24.027	4	6.007	1.646 .161
	LRATES	Within Groups	1865.322	511	3.650	
		Total	1889.349	515		
H _{04.12}		Between Groups	16.011	4	4.003	1.348 .251
	USMEDIA	Within Groups	1517.547	511	2.970	
		Total	1533.558	515		
H _{04.13}		Between Groups	40.698	4	10.175	3.486 .008
	ESTFN	Within Groups	1491.562	511	2.919	
		Total	1532.261	515		
H _{04.14}		Between Groups	44.847	4	11.212	3.790 .005
	PINTN	Within Groups	1511.512	511	2.958	
		Total	1556.359	515		

The above table shows the results of T-test applied to determine the differences in antecedents of Website Design (WEBD), Website usability (WEBU), Search and compare capabilities (SRCC), Information Quality (INFQ), Loyalty and Rewards program (LYRP), Responsiveness (RSPNS),

Security and Privacy (SCPY), Order Tracking (ORDRT), On Time delivery (OTDL), Customer Service (CSER), Lower Rates (LRATES), Use of Social Media (USMEDIA), E-Satisfaction (ESTFN) and Purchase Intention (PINTN) across professions.

The significance value is greater than 0.05 for only a few of the dependent variables across the table supporting only the hypothesis H_{04.1} H_{04.2} H_{04.4} H_{04.5} H_{04.6} H_{04.8} H_{04.9} H_{04.11} H_{04.12} while the significance value is less than 0.05 for SRCC, SCPY, OTDL, CSER, ESTFN and PINTN Therefore, Hypothesis H_{04.3}, H_{04.7}, H_{04.10}, H_{04.13}, H_{04.14} is rejected across Education levels. This indicates that consumers from different professions respond differently. It is statistically confirmed through T test that the above antecedents of Website Design (WEBD), Responsiveness (RSPNS), Order Tracking (ORDRT) across professions does not have any significant difference as the Sig. value is higher than 0.05.

Conclusions and Discussion

The objective of the present study is to examine the differences in relationship marketing practices, e-satisfaction and purchase intention across demographic characteristics of the respondents. Present study uses t-test and ANOVA to test the hypotheses.

The results show that Male and female consumers differ in their attitudes with respect to factors like website quality, trust, e-satisfaction and e-loyalty which help in determining the online consumer behavior (Ladhari and Leclerc, 2013). Similar findings have been recorded for the present study which demonstrates the gender differences lies in information quality, security and privacy, and purchase intention. However,

gender differences are insignificant for website quality, website usability, search/compare capabilities, lower rates, responsiveness, order tracking, on time delivery, and customer service. Hence the results suggest that the gender differences are partial predictor of relationship marketing and purchase intention.

Previous researches have suggested that the differences in the age of consumers strongly influence the attitude and behavior of the same consumers (Hervé and Mullet, 2009; Hervé et al., 2004; Nussbaum et al., 2000; Adelman et al., 1992). The present study does not support the hypothesis. The study fails to record significant differences in communicational, transactional and relational marketing.

Behavioral attitude of the consumers is influenced by the level of educational qualification of consumers (Sahney et al., 2013; Punj, 2011). This is based on the assumption that as the level of education increases, information, knowledge, exposure also increases which help in shaping the behavioral attitude of the consumers. However, the present study finds insignificant differences across different levels of educational qualification.

Consumer behaviour can be predicted if his/her occupation is known. Several previous studies have documented the variation in consumer behaviour across different types of occupations (Kumar and Kumar, 2019; Jones et al., 2000). The

findings of the present study confirm the occupational differences in search/compare capabilities, security/privacy, order delivery, customer service. e-satisfaction. and purchase intention. Insignificant differences have been found across different types of occupations in website design, website usability, information quality, responsiveness, order tracking, order tracking, and loyalty and reward programs. Therefore, it can be summarized that the difference across occupations partially predicts the relationship marketing, esatisfaction and purchase intention.

Every study possesses few limitations, so does the present study: (a). The study has contextual limitations as its conducted only in Indian set up limiting the socio-economic-demographic background. (b). The study was done with a focus on E-commerce and does not consider the dynamics of any other sector in India. (c). The study focusses on consumers from Delhi-NCR region and the same may not hold true for other regions in India.

Based on the findings and limitations of the present study, some of the directions for the future research have been ascertained. The findings of the present study can be validated by the future researchers in order to ascertain the effectiveness of the present findings. Future researchers may attempt to understand the online consumer behaviour by applying other methodologies e.g. experimental research methods, mixed methods, longitudinal research method. Researchers may also examine the effect of relationship marketing on actual purchase behaviour.

Since the present study included respondents from a metro city (Delhi), future researchers may seek the online consumer behaviour of the individuals living in suburbs/smaller towns. The future researchers can also use the present model of the research in other instances by the making the study specific to other sectors.

References

Adelman, R.D., Greene, M.G., Charon, R. & Friedmann, E. (1992.) The content of physician and elderly patient interaction in the medical primary care encounter. *Communication Research*, 19, 370.

Anderson, K. & Kerr, C. (2001). Customer Relationship Management, McGraw-Hill Education. Anton, J. (1996). Customer relationship management, Prentice Hall, New York

Axelsson, B., and Easton, G. (1992). "Routledge", London

Berry, L. L. (1995). Relationship Marketing of Services: Growing Internet, Emerging Perspectives, *Journal of the*

- Academy of Marketing Science, 23(4), 236-245.
- Brodie, R. J., Coviello, N. E., Brookes, R. W., & Little, V. (1997). Towards a paradigm shift in marketing? An examination of current marketing practices. *Journal of marketing management*, *13*(5), 383-406.
- Buzzell, R. D., & Ortmeyer, G. (1995). Channel partnerships streamline distribution. *MIT Sloan Management Review*, *36*(3), 85.
- Chaffey, D. Mayer, R.; Johnston, K. and Ellis-Chadwick, F. (2003). Internet Marketing, Financial times/Prentice Hall, Harlow
- Dyche, J., & O'Brien, M. M. (2002). *The CRM handbook: A business guide to customer relationship management*. Addison-Wesley Professional.
- Fayerman, M. (2002). Customer Relationship
 Management in New Directions for
 Institutional Research,
 Knowledgement: Building a
 Competitive Advantage in Higher
 Education.
- Feinberg, R., Kadam, R., Hokama, L., and Kim, I. (2002). "The state of electronic customer relationship management in retailing", *International Journal of Retail & Distribution Management*, 30(10), 470-481
- Gardial, S.F. D., Clemons, D.S., Woodruff, R.B., Schumann, D.W, and Burns, M.J. (1994). "Comparing Consumers'

- Recall of Pre-purchase and Postpurchase Evaluation Experiences." *Journal of Consumer Research*, 20, 548-560.
- Greenberg, P. (2000). CRM at the speed of time Capturing and Keeping Customers in Internet Real Time.
 Osborne/McGraw-Hill
- Grönroos, C. (1991). The marketing strategy continuum: towards a marketing concept for the 1990s. *Management decision*.
- Hervé, C., & Mullet, E. (2009). Age and factors influencing consumer behaviour. *International Journal of Consumer Studies*, 33(3), 302-308.
- Hervé, C., Mullet, E. & Sorum, P. (2004). Age and medication acceptance. *Experimental Aging Research, 30,* 253–273.
- Jones, M.A., Mothersbaugh, D.L. and Beatty, S.E. (2000). "Switching barriers and repurchase intentions in services", *Journal of Retailing*, 76(2), 259-74.
- Khalifa, M., & Shen, N. (2005, January). Effects of electronic customer relationship management on customer satisfaction: A temporal model. In *Proceedings of the 38th Annual Hawaii international conference on system sciences*, 171a-171a. IEEE.
- Khalifa, M., and Shen, N. (2009). Modelling electronic customer relationship management success: functional and

- temporal considerations, Behaviour & Information Technology, *28*(4), 373-387.
- Kumar, R. A. K. E. S. H., & Kumar, R. A. M. E. S. H. (2019). Impact of Various Demographic Factors on Consumer Behaviour–An Empirical Study of Electronic Products In Rural Himachal (India). Indian Journal of Economics and Business, 19(1), 109-127.
- Ladhari, R., & Leclerc, A. (2013). Building loyalty with online financial services customers: Is there a gender difference?. *Journal of Retailing and Consumer Services*, 20(6), 560-569.
- Liu, X. He, M. Gao, F. and Xie, P. (2008). An empirical study of online shopping customer satisfaction in China: a holistic perspective. *International Journal of Retail & Distribution Management*, 36(11), 919-940
- Lu, J., (2003). A model for evaluating ecommerce based on cost/benefit and customer satisfaction. *Information Systems Frontiers*, *5*, 265–277.
- Mitra, A. (2013). E-commerce in India-A Review. *International journal of marketing, financial services & management research*, 2(2), 126-132.
- Normann, R., and Ramirez, R. (1993). "From Value Chain to Value Constellation: Designing Interactive Strategy", Harvard Business Review, July-August, 65-77

- Nussbaum, J.F., Pecchioni, L., Grant, J.A. & Folwell, A. (2000). Explaining illness to older adults: the complexities of the provider patient interaction as we age. In Explaining Illness: Research, Theory and Strategies (ed. by B.B. Whaley), 171–194. Erlbaum, Mahway, NJ.
- Palmatier, R. W. (2008). Relationship marketing. (1 ed.,) vol. 1, pp. 1-10. Cambridge: Marketing Science Institute
- Peppers, D., & Rogers, M. (1993). *The one to one future: Building relationships one customer at a time.* New York: Currency Doubleday.
- Rosenbaum, H., & Huang, B. Y. (2002). A Framework for web-based e-commerce customer relationship management. *AMCIS 2002 Proceeding s*, 76.
- Ross, D. F. (2005). E-CRM from a supply chain management perspective, *Journal of Information Systems Management*, 22(1), 37-44.
- Scott Morton, M.S. (1991). "The Corporation of the 1990s, Information Technology and Organisational Transformation", Oxford University Press
- Sheng, Y. (2002). A business model and framework for electronic customer relationship management. *AMCIS* 2002 Proceedings, 78.
- Shukla, A., Sharma, N. K., & Swami, S. (2010). Website characteristics, user

characteristics and purchase intention: mediating role of website satisfaction. *International Journal of Internet Marketing and Advertising*, 6(2), 142-167.

Sterne, J., (1996). "Customer service on the Internet". 1996, New York: John Wiley and Sons.

Wilson, D.T. (1995). "An Integrated Model of Buyer-Seller Relationships", *Journal of the Academy of Marketing Science*, 23(4), 335-345.

To cite this article

Adil Wakeel, Asif Akhtar, & Rahela Farooqi. (2021). Relationship Marketing in E-Commerce: Demographic characteristics of online consumers in India. *Sparkling International Journal of Multidisciplinary Research Studies*, 4(3), 10-38.

ABOUT THE AUTHORS



Adil Wakeel is currently working as a category marketing manager with a FMCG organization. Prior to this, he has over 10 years of experience as a market research professional. His last role in Market research was the Head of Consumer and Market Insights for a multinational organization.



DR Asif Akhtar is an Assistant Professor at the Department of Business Studies, Faculty of Management Studies and Research, Aligarh Muslim University, Aligarh, Uttar Pradesh, India. He has over 13 years of teaching experience and research in the areas of Quantitative Techniques in Management, Operations Management and Islamic Banking. He has published several research papers in the reputed national as well as international journals. He has also guided many Ph.D scholars.



DR Rahela Farooqi is a Professor at the Centre for Management Studies, Jamia Millia Islamia University, Jamia Nagar, New Delhi, India. She has more than 20 years of teaching experience at the post graduate level in the area of Marketing. She has guided more than 10 Phd scholars. Research papers published in reputed journals like Emerald, Sage etc. Delivered lecture and presented papers in International conferences in Denmark, Germany, Malaysia and Thailand. A passionate teacher, a keen learner and a sensitive person. Eager to make a difference to the lives of students by guiding and motivating them.